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A(xÁ yÁ) B(xª yª) C(x£ y£)
ABC G

	     G { xÁ+xª+x£
3

yÁ+yª+y£
3 }

ABC AB BC CA m`:`n (m>0 n>0)

D E F ABC DEF

ABC BC M
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A06 A(-5 -2) B(1 -6) 
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29

f(x)=xÛ`+4x+3
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-:Á8°: -:Á4°:		 -:Á2°:
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A35
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ABÓ=BC Ó a

-2 -1 1

2 4

A32

ABÓ=BCÓ ABÓ Û`=BCÓ Û`
(a+5)Û`+(-2+7)Û`=(3-a)Û`+3Û`
aÛ`+10a+50=aÛ`-6a+18
16a=-32 a=-2

A(4 1)
ABC BC

(-2 -1) ABÓ Û`+ACÓ Û`
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A29
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BC P ABC
BC

PAÓ=!%{4-(-2)}Û`+{1-(-1)}Û`=21410
BCÓ=2PAÓ=41410

AB Ó Û`+ACÓ Û`=BCÓ Û`=(41410)Û`=160

A34
A(2 4) B(5 1)

y=-x P APÓ=BPÓ
OP ( O )

'2
4

'2
2 '2

2'2 4'2
APÓ=BPÓ ¿¹(a-2)Û`+(-a-4)Û`=¿¹(a-5)Û`+(-a-1)Û`
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A(0 2) B(1 5) C(a 1)

ABC
a

4	 5	 6

7	 8

A39

Ú ABÓ=BCÓ 1410=!%aÛ`-2a+17 aÛ`-2a+7=0
a

Û BCÓ=CAÓ !%aÛ`-2a+17=!%aÛ`+1 a=8
Ü ABÓ=CAÓ 1410=!%aÛ`+1 a=3 a=-3
Ú Û Ü a 8+3+(-3)=8

A(a a) B(3 a) C(2 b)

ABC

1	 2	 3

4	 5

A40

ABC BCÓ Û`=CAÓ Û`
1=aÛ`-4a+4 aÛ`-4a+3=0 (a-1)(a-3)=0

a=1 a=3
Ú a=1 ABÓ Û`=4 Û a=3 ABÓ Û`=0

ABÓ>0 ABÓ Û`=4
'4=2

A(1 3) B(2 2) C(4 5)
ABC

ACÓ

ABÓ=BCÓ

BCÓ=CAÓ

BCÓ

A38

ABÓ=!%1Û`+(-1)Û`=12 BCÓ=!%2Û`+3Û`=1413
CAÓ=!%(-3)Û`+(-2)Û`=1413

ABC BCÓ=CAÓ

ABC BCÓ=a CAÓ=b ABÓ=c

ABC

cÛ`>aÛ`+bÛ` jK
cÛ`=aÛ`+bÛ` jK
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A37
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A36
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OAÓ=OBÓ a

6 7 8

9 10
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a
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A(2 0) B(0 a) '¶13
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1 2 3

4 5

A x1 y1) B(x2 y2)
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2

ABÓ="Ã(0-2)2+Ã(a-0)2='¶13
a2+4=13 a2=9

a>0 a=3
a2-9=0 a=3 a=-3
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A(xÁ yÁ) B(xª yª)

ABÓ="Ã(xª-xÁ)Û`+(yª-yÁ)Û`

A(-1 3) B(4 1)

AB
AB
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AB

A(-1 3) B(4 1)
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='¶29

AB
ABÓ Û`=('¶29)Û`=29
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"Ã(xª-xÁ)Û`+(yª-yÁ)Û`
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a

aÛ`-6a+10=17
aÛ`-6a-7=(a-7)(a+1)=0

a a=7

3



29

(xÁ yÁ) (xª yª) "Ã(xª-xÁ)Û`+(yª-yÁ)Û``
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OPÓ= '22

A(xÁ) B(xª)
AB m n (m>0 n>0)

P P{mxª+nxÁ
m+n }

AB M M{ xÁ+xª
2 }

y=f(x) (a f(a))

A(x1 y1) B(x2 y2)

ABÓ=¿¹(x2-x1)
2+(y2-y1)

2

AB AB
AB

y=x y=-x (a a) (a -a) x y
|a|

'2|a|

BC D
AG Ó=!%(1+3)Û`+(4-2)Û`=215

ADÓ=;2#;AG Ó=;2#;´215=315

ABC 315
13
2 ABÓ=315 AB Ó=21415

ABC 13
4 _(21415)Û`=1513

2`:`1

GAB= GBC= GCA=;3!; ABC

ADÓ AGÓ=3 2

a 13
4 aÛ`

5



a b

A(0 2) B(-2 1) P(a b)

y=-x+1 ab

-:Á8°: -:Á4°:	 -:Á2°:	 -2 -1

PAÓ=PBÓÓ

APÓ=BPÓ P y=-x+1

A(0 2) B(-2 1) P(a b)

APÓ=BPÓ
!%aÛ`+(b-2)Û`=!%(a+2)Û`+(b-1)Û`
aÛ`+bÛ`-4b+4=aÛ`+4a+4+bÛ`-2b+1
4a+2b+1=0

b=-2a-;2!;

P(a b) y=-x+1
b=-a+1

a=-;2#; b=;2%;

ab=-:Á4°:
-2a-;2!;=-a+1` `a=-;2#;` `b=;2%;�

A(3 4) B(-3 0) C(5 0)

ABC (a b) ab

-1 -;2!;	 0	 ;2!; 1

O(a b) OAÓ=OBÓ=OCÓ

OAÓ=OBÓ

!%(a-3)Û`+(b-4)Û`=!%(a+3)Û`+bÛ`

aÛ`-6a+9+bÛ`-8b+16=aÛ`+6a+9+bÛ`
-12a-8b=-16 3a+2b=4

OBÓ=OC Ó

!%(a+3)Û`+bÛ`=!%(a-5)Û`+bÛ``

aÛ`+6a+9+bÛ`=aÛ`-10a+25+bÛ`
16a=16 a=1

b=;2!;

ab=;2!;
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PAÓ=PBÓ=PCÓ

A B C

P(a b)

a+b
PAÓ=PBÓ=PCÓ P

PAÓ=PBÓ=PCÓ P

PAÓ=PBÓ

!%(a-0)Û`+(b-5)Û`=!%(a-6)Û`+(b+3)Û`
aÛ`+bÛ`-10b+25=aÛ`-12a+36+bÛ`+6b+9

3a-4b=5
PBÓ=PCÓ

!%(a-6)Û`+(b+3)Û`=!%(a-7)Û`+(b-4)Û`
aÛ`-12a+36+bÛ`+6b+9=aÛ`-14a+49+bÛ`-8b+16

a+7b=10
a=3 b=1

a+b=3+1=4

x jK (a 0)
y jK (0 b)

(a b) jK x=a y=b

PAÓ=PBÓ

PAÓ=PBÓ=PCÓ P ABC

A(1 3) B(2 2) C(4 5)

ABC

ACÓ

ABÓ=BCÓ

BCÓ=CAÓ

BCÓ

ABC

ABÓ BCÓ CAÓ ABC

AB Ó=!%1Û`+(-1)Û`=12
BCÓ=!%2Û`+3Û`=1413
CAÓ=!%(-3)Û`+(-2)Û`=1413

ABC BCÓ=CAÓ
ABC
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C a
a

A(0 2) B(1 5) C(a 1)

ABC

a

4	 5	 6 7	 8  

ABC

ABÓ BCÓ CAÓ

ABÓ=!%1Û`+3Û`=1410
BCÓ=!%(a-1)Û`+(-4)Û`=!%aÛ`-2a+17
CA Ó=!%(-a)Û`+1Û`=!%aÛ`+1

ABC

Ú ABÓ=BC Ó
1410=!%aÛ`-2a+17 aÛ`-2a+7=0

a

Û BCÓ=CAÓ
!%aÛ`-2a+17=!%aÛ`+1

  -2a=-16 a=8
Ü ABÓ=CA Ó
1410=!%aÛ`+1
aÛ`=9 a=3 a=-3

Ú Û Ü a 8+3+(-3)=8

A(xÁ yÁ) B(xª, yª)

ABÓ=!%(xª-xÁ)Û`+(yª-yÁ)Û`

D
4 =1-7=-6<0

a b

A(a a) B(3 a) C(2 b)

ABC

1	 2		  3

4	 5  

ABC ABÓ=BCÓ=CAÓ
ABÓ Û`=BCÓ Û`=CAÓ Û`

ABÓ=BCÓ=CAÓ

ABÓ Û`=(3-a)Û`

BCÓ Û`=(2-3)Û`+(b-a)Û`=1+(b-a)Û`

CAÓ Û`=(a-2)Û`+(a-b)Û`=aÛ`-4a+4+(a-b)Û`

ABC BC Ó Û`=CAÓ Û`

1=aÛ`-4a+4 aÛ`-4a+3=0
(a-1)(a-3)=0    a=1 a=3

Ú a=1 AB Ó Û`=4

Û a=3 AB Ó Û`=0
ABÓ>0 ABÓÛ`=4

'4=2

14

ABÓ

ABÓ=0 ABC

90ù

ABC C

A(2 -4) B(1 4) C(-2 -2)

ABC C

ABÓ BCÓ CAÓ

ABÓ Û`=(-1)Û`+8Û`=65

BCÓ Û`=(-3)Û`+(-6)Û`=45
CAÓ Û`=4Û`+(-2)Û`=20

ABÓ Û̀ =BCÓ Û̀ +CAÓ Û̀ ABC ABÓ

C=90ù

(xÁ yÁ) (xª yª)

!%(xª-xÁ)Û`+(yª-yÁ)Û`

ABÓ

ABC ABC

A(3 2) B(0 1) C(1 -2)

ABC

1410	 2'3	 4	 2'5	 5  
ABÓ BCÓ CAÓ ABC

ABÓ=!%(-3)Û`+(-1)Û`=1410
BCÓ=!%1Û`+(-3)Û`=1410
CAÓ=!%2Û`+4Û`=1420=2'5

CAÓ Û`=ABÓ Û`+BCÓ Û` ABÓ=BCÓ

ABC B=90ù ABÓ=BCÓ

ABC=;2!;_1410_1410=5

B=90ù

B=90ù

P(x y) APÓÛ`+BPÓÛ` x y
x y

A(3 1) B(-1 3) APÓ Û`+BPÓ Û`

P

(-1 -2) (1 2)		 (2 2)

(2 4)	 (-2 -4)  

P(x y) APÓÛ`+BPÓÛ`

P (x y)

APÓ Û`+BPÓ Û`=(x-3)Û`+(y-1)Û`+(x+1)Û`+(y-3)Û`
=2(x-1)Û`+2(y-2)Û`+10

x=1 y=2 APÓ Û`+BPÓ Û` P
(1 2)

Û`¾0
=0
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